YEAR 10 CAPACITY WITH TI NSPIRE CAS 
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Calculating the capacity of each tank. Volume of a cylinder: 
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	Use your calculator to define the volume function, calculate the volume of each tank in 
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 and then convert the capacity to litres.

Use Ctrl space for _, it is faster. 
Use Ctrl Catalogue for the conversion arrow.
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	Repeat for the other three tanks:
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The tank with radius 1.5 metres and height 3 metres has the highest capacity of 28274 litres. 
Calculating the cost of materials for each tank. 
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The cheapest tank is the one with radius of 1.5 m and height of 4.5 m. Its capacity is only 7952 litres which does not fulfil Leon’s condition that it needs to hold at least 12 000 litres. Therefore Leon should choose the tank with radius 1 metre and height 4 metres, which has the capacity of 12566 litres and has the second smallest surface area.
As can be seen from unit conversions 
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MORE UNIT CONVERSIONS:

Many recipes give units in pints. Let’s use the calculator to see what kind of capacity unit it is.

Go to Catalogue. Select 3: Then scroll down to Volume and to _pt

You will see on the bottom of the screen that 1 pint is about 2 cups. How many millilitres?
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A few more examples are shown below. You may play with other capacity or unit conversions. For example some countries still sell petrol in gallons.
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